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Correct Marks: 3 Wrong Marks: 1
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Question Number : 4 Question Id : 54310712174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Question Number : 5 Question Id : 54310712175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
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Options:
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Question Number : 6 Question Id : 54310712176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 8 Question Id : 54310712178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Question Number : 9 Question Id : 54310712179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 10 Question Id : 54310712180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Question Number : 11 Question Id : 54310712181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Al TG ST THA|' FEH HiT AT HoldR &7

Options:
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Question Number : 12 Question Id : 54310712182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Hel el HaT 87

Options:
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Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question
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Question Number : 14 Question Id : 54310712184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Options:
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Question Number : 15 Question Id : 54310712185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 54310712186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choose the best option as synonym
Inadvertent

Options:
; lgnorant

» Unexpected

= Unintentional

4 Undisturbed

Question Number : 17 Question Id : 54310712187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the best option as Antonym i.e. word having the opposite meaning:

Testify

Options:

1 Falsify
-~ Evidence

= Prove

4 Confide

Question Number : 18 Question Id : 54310712188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Choose the best option as Antonym i.e. word having the opposite meaning:
Acquit

Options:



1 Retreat
- Gonvict
= Conceal

4 Deprive

Question Number : 19 Question Id : 54310712189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Fill in the Blank with appropriate Phrasal verb :

Could you the music while I'm on the phone?

Options:
1 lurn

= Turn off
= Turn around

4 Turn over

Question Number : 20 Question Id : 54310712190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Fill in the Blank with appropriate Phrasal verb :
| don't my new science teacher.

Options:

1 Getup
- Get over
= Get on with

4 Getin

Question Number : 21 Question Id : 54310712191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Fill in the Blank with appropriate Preposition:

Ramesh is sitting the Laptop.



Options:
1 Into

o To

= In front of

4. With

Question Number : 22 Question Id : 54310712192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the Blank with appropriate Preposition:
He takes Honour his great command in computer science.

Options:
, From

, With
= In

4. Without

Question Number : 23 Question Id : 54310712193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Choose the word closest to the meaning of the phrase for the following :
At one's fingertips

Options:
, To take revenge

5 Matter of shame

5 Complete knowledge

4 None of these

Question Number : 24 Question Id : 54310712194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question
Choose the word closest to the meaning of the phrase for the following :

At the spur of the moment

Options:
1. Difficult Moment

> Without Delay
= Great Moment

4 Very Slow

Question Number : 25 Question Id : 54310712195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Choose the word closest to the meaning of the phrase for the following :
Allin all

Options:
. Every person

> Particular thing same in all

- Call all at once

4 Most important

Question Number : 26 Question Id : 54310712196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Give one-word Substitute for the following:

A disease which spreads by contact:
Options:

. Incurable

- Infectious
- Contagious

4 Fatal



Question Number : 27 Question Id : 54310712197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Give one-word Substitute for the following:
That which cannot be avoided.

Options:
1 Inevitable

- Irreparable
- Incomparable

4 Indisputable

Question Number : 28 Question Id : 54310712198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
Give one-word Substitute for the following:
An Independent person or body officially appointed to settle a dispute:

Options:

. Arbiter

» Mediator
= Agent provocateur

4 Arbitrator

Question Number : 29 Question Id : 54310712199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Choose the correct answer out of the four alternatives given below:
What 71t wonderful.

Options:
; is cooking. smell.

5 Is cooking. smelled.



- are you cooking. smelt.

4, areyou cooking. smells.

Question Number : 30 Question Id : 54310712200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Find the correctly spelt word out of the four given words:

Options:

L Perjary

-~ Perjury

s Parjury

4 Perjery.
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Question Number : 31 Question Id : 54310712201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The “Black Box' of an aeroplane is of -

gdTS S8l &l solsh aiFd aiaT B-

Options:
Orange Colour

1. I @



Black Colour
o T T3

White Colour
. EE T

Green Colour
4 BU G

Question Number : 32 Question Id : 54310712202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is hydroponics ?
erergifierd &1 g —
Options:

Study of sail
y Ay &1 remge |

Plant without soil enrichment

, e i e S sravasar A8 ¥

Soil Conservation
5, fHET Tamr

Plant with vegetables.

, At & ary dy |

Question Number : 33 Question Id : 54310712203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

With reference to micro-irrigation, which of the following statement is/are correct?
geA i & gt A Aefaf@d & ¥ v avd Fawor af & -

(i)  Fertilizer loss can be reduced
e &9 B HA HAT AT Fhar g

(iiy Itisthe only means of irrigation in dry land farming

UsF qfAF Fr EN A 7 v A7 [ard a7 oA §

Select the correct answer using the code given below-

A feT 1T FIs FT AT FA §TC FL ek Ted —

Options:
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Question Number : 34 Question Id : 54310712204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Match List | with List Il and select the correct answer from the codes given below:

Tt |1 gl & f&ena Y 3R A fqu 10 $is & 9 ¥eF 3ca F1 gAa
List | List 11 Al

(a) Growth in Food Production (1) Green Revolution
ey e # gfg gRd shifd
(b) Milk Production (2) Blue Revolution
oY 3cUIee atell ShIfe
(c) Fisheries (3) White Revolution
HSol Tele qd Hifa
(d) Fertilizers (4) Grey Revolution
390F 3T wifa
Options:
A B C D
11 3 2 4
A B C D
> 3 1 4 2
A B C D
5 2 4 3 1
A B C D
3 2 4 1



Question Number : 35 Question Id : 54310712205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following pair (battle during the Mughal and Maratha period and its
year) is correctly matched?

efaf@a & & &9 a1 et (Ferer 3R Aver 3Ef® & S ge 3R gas av)
el &0 F fBere @rarn -

Options:
Battle of Chausa - 1538 AD
| drar & gg . 1538 .
Battle of Kannauj - 1539 AD
5 oottt H TG - 1539 =.
Battle of Haldighati - 1576 AD
5 BoardTel & Ig : 1576 3.
Battle of Khed - 1699 AD
, U FIg - 1699 8.

Question Number : 36 Question Id : 54310712206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following statements are correct?
rfoafaa & 9 &l ar 39 @81 &
(i) Ahmad Shah Abdali fought the third battle of Panipat.
IEAS AE ITeCTell & I=AdT T IR g 31 AT
(i) Babur established the Delhi Sultanate.
aTeY & feeell Hoded i Fum=r i o

(iii) Jahangir was a lover of beauty and nature.

STEITR Geelar 3R Tpfd &1 T o

Options:



LIl and iii are correct
. iLii AR iii T@Er g
iii only

) el ii

i only

5 Hhad i
il and iii only
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Question Number : 37 Question Id : 54310712207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Duncan Pass is located between —

ST g e O Bua §-

Options:
South and Little Andaman

, AT&Tor 3R oY 3isHT

North and South Andaman
> 3cad 3 gleyor 3rsHT

North and Middle Andaman
5 3cal 3N AL 3HSA

Andaman and Nicobar

4 33AT 3R AR

Question Number : 38 Question Id : 54310712208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



Which of the following Commission was appointed by the Central Government on
union-state relation in 19837

T TTHR ANt 1983 H TY T Wee 9T Fid @7 34T afed fmar arar

ar ?
Options:
Sarkariya Commission.

| GRITET 3aNeT

Dutt Commission.

o Ged 3TIYEr

Setalved Commission.

5 Hrcefars 3raver

Rajamannar Commission.

4 USTHTATL TAET

Question Number : 39 Question Id : 54310712209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who founded the “Naujawan Bharat Sabha” 7
"sAleTalel AR 8" 1 TG fohaa &hr oY ?

Options:

Chandra Shekhar Azad
1 TGAET TG

Surya Sen
o THHA
Bhagat Singh
3, 9T g

V.D.Savarkar
4 ar 3 FraE

Question Number : 40 Question Id : 54310712210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A person with diabetes mellitus does not secrete :

wiE @ URiG @fe @ YN § wied € e @

Options:
Insulin

, TG

thyroxin
T IERUE S
glucagon

S.E

growth hormone

4, g B

Question Number : 41 Question Id : 54310712211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

When is the National Youth Day celebrated ?
TSI gaT fead Fg AT Sl g ?

Options:
January 15;

;15 Seradt

January 9;
> 9 SAAad

January 18;
5 18 AT

January 12.
o 12 Seiady

Question Number : 42 Question Id : 54310712212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



uestion Lateal Multiple _hoice Cuestion
The Study of population is called:

FAHEAT IETTH srpclldl %—

Options:
Cartography;

1. ERIEY

Anthropology;
> T SIS

Demography;
3. SHIITH

Biography.
4 STITITERY

Question Number : 43 Question Id : 54310712213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Name of the longest lake in India:

"L & 99 o shar § -

Options:

Pangong Lake;
1, T ST

Pulicut Lake;
o Jreid et

Kolleru Lake;

3. Hleca® el

Vembanad Lake.

4 dEITATS e

Question Number : 44 Question Id : 54310712214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



I he Oath ot Oftice is administered to the Governor by the:
TguTel &1 frEd ganr auy fEerg ondl & -

Options:
Chief Justice of India;

AT & HEY =ararefrer

1

Speaker of Legislative Assembly;

o TaUTe |8 T TET

President;

3. Ut I

Chief Justice of High Count.

, 3T FUIIET F AEY ST

Question Number : 45 Question Id : 54310712215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Who translated ‘Mahabharata’ into Persian?

HETANT & BRET A 3efdre hde fFhar ar—
Options:
Ibn- Batuta;

1. i\

Abdul Fazal;

Question Number : 46 Question Id : 54310712216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



Central Government has formed a new ministry by merging the erstwhile ministry
of water resources and Drinking water and Sanitation. What is the name of the
new Ministry?

FAT TEN o dedlallsl ol AU IR 9Tl aq T9eodl A6 & faorg

Flh Th o7 HATAT o117 & | AT HITTT T T o187 g ?

Options:
Jal Purti

EEEIG]

1. E.

Jal Sanitation

zaﬂ'ﬁﬂ?ﬁ

Jal Shakti
5 SAerfFd

Jal Sudhan
, Sergye

Question Number : 47 Question Id : 54310712217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

In the French Open Tennis Tournament held recently in Paris, Ashleigh Barty won
her maiden grand slam title. She is from which country?

g & & 9g # 3afeg by g A gfoafEar & smee adt & e
Ugall 3T FTol7 & W@ae Siar g 198 g gar fr g2

Options:
France

I_FETH

Australia

o JTECTerar

Belgium

5 dfcaigH



ltaly.
4 FCel

Question Number : 48 Question Id : 54310712218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who appoints the Chief Election Commissioner of India ?

YRT & = g9 g B FgRe o9 s=ar g ?

Options:
President

1_‘@;14‘&‘1

Prime Minister

> TETTHAT

Parliament
= §Hg

Chief Justice of India

4_Wﬁg@wmnﬂw

Question Number : 49 Question Id : 54310712219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

World Environment day is celebrated on June 05 worldwide. What was the theme
of world Environment day this year?

faea gatavor RGaw U faeg & 5 57 &1 #arar Snar g1 36 a¥ faeg gatavor
fEaa @ fawg a7 ar-

Options:

Air Pollution
1, TS A
Clean India
> HTe HA

Plastic free India
=, 2



one world, one Environment

, U e, v gATELoT

Question Number : 50 Question Id : 54310712220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

What was the code name given by Indian Air Force for February 2019 surgical
Strike on Balakot?

Eﬁ?a‘?rzmgﬁmﬁrrmﬁaq?géuﬁwwﬁwwmaqﬁmm%m

ITAT S ATH FAT AT-

Options:
Operation Bandar

1 HGRIA Fwcd

Operation Delhi
, 3R Reeh

Operation Khan
o T @i

Operation Hero

4, 39 ERY

Question Number : 51 Question Id : 54310712221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which is India’'s fastest train?

T & §99 oo afd & I arelr I9mET &t 9 £ 2

Options:
T-18
, &r-18

Rajdhani
o STl
Vaishali
Jerrell

3.



Gomati

4 FHAT

Question Number : 52 Question Id : 54310712222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which politician has received Seoul Peace Prize 20187

ﬁmﬁﬁaﬁ@r%ﬂmﬁﬁﬁﬁmmmﬁmﬁ&ﬁﬁwwwg—

Options:

Donald Trump
3lees ¢Fy

1

Narendra Modi
, Tleg AT

Vladimir Putin

, CONTGHR g

Emmanuel Macron

SH UelHh!

4. =

Question Number : 53 Question Id : 54310712223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Who is the first women full time finance minister of India?

HITT &1 9gar qUT Fiford Afgen Aeasdl Fi9 € 2

Options:
Smt. Indira Gandhi
. Aradr sfear amed

Smt. Sushma Swaraj

2.i cl E_-ul T dilo

Smt. Nirmala Sitharaman

5 A fAFer daraer



Smt. Sheila Kaul
4 ATHAT eftem &l

Question Number : 54 Question Id : 54310712224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following is a method of heat transfer?

fArafaf@a & & 9 ar ST IFA0T FT Th JUH 872
Options:
Evaporation;

IcHTe

1.

Convection;

z. E.I S

Revolution;

5 GRERATT

Thermal Expansion.

4 ATHITTEN

Question Number : 55 Question Id : 54310712225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which Indian holds the record of playing the highest number of football matches
from Indian Side?

fArfafaa a4 e e § 99 9 & @ § g98 30F Feara Ag
o &1 s §7

Options:

Anil Dev
y 3 CER-C]

Ashok Kumar
2. mﬁa‘_l 3



Sunil Chhetri
39 ﬁﬁﬁ

B. Bhutia
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Question Id : 54310712226 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (56 to 57)
Cesticn Label | Comprehension

Directions — Read the given information carefully and answer the given question.
fader- & 71§ yEar & ymgEs g v Re v gEt F1 3qaw &)

Point N is 8m to the west of point O. Point P is 4m to the south of point O. Point Q is 4m
to the east of point P. Point R is 6m to the north of point Q. Point S is 8m to the west of
point R. Point T is 2m to the south of the point S.

fag N, foig O & 9fRgs & 8 Hirex W g1 g P, fdgq O & gftior 7 4 A W &1 fog Q,
figPHF @H4AMT WE g R MgQAF 3aR A6 AT W EIfdg S, Mg R &
ufeH A8 ey W gl fag T, foig S & cfator & 2#fey o &

Sub questions

Question Number : 56 Question Id : 54310712227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

How far and in which direction is point T from point N?

fag T, fog N & fora feem & 3R fvceit g7 & 2



Options:
4m to the east

4T g A

1.

8m to the west

> 8 #HIEeT uftaH H

4m to the west

3_4aﬂttqf5m:rﬁ

Bm to the east
, BART g A

Question Number : 57 Question Id : 54310712228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If point T is 4m to the north of point E, then what is the distance between E and Q?

afy Rig T, Rig E & 47T oF 3a0¢ & & o E3R Q& & @1 gt 7 32

Options:

; 11m/ARY

5 8m/#HreT

3 15m/HeT

4 5m/HTET

Sub-Section Number: 2
Sub-Section 1d: 543107234
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 54310712229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If 2 boys and 2 girls are to be arranged in a row so that the girls are not next to
each other, how many possible arrangements are there?

e 2 oIgah 3N 2 orefhdl FI T dfdd H 39 oig qIaRyd fHar Jrdar ¢ difsh
TSfHAl T gaY & 9T H ofel §, a1 981 W fhdel @efad aaawr w7 g7



Options:

2

12
3.

24

Question Number : 59 Question Id : 54310712230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

How many numbers are there between 99 and 1000 such that the digit 8 occupies
the units place?

99 3T 1000 & & 3T arelr FEIAT H 8 Fr FEAT SHE & WF W fFHdar
IR TS §?

Options:
1. 84

> 30
= 90

4 104

Question Number : 60 Question Id : 54310712231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A bag contains 20 balls. 8 balls are green, 7 are white and 5 are red. What is the
minimum number of balls that must be picked up from the bag (without replacing
any of it) so that at least one ball from each color is drawn?

T o F 20 I Bl 3AF ¥ 8 a7 &Y LT Fr &, 7 The T Hr HR 5 AT T Y
gl ¥ &7 (Toan fFdY afa &1 acd) 7 ¥ 7 Faar did 3815 v afs 9ds
T & T T Afad § § g1y 7 H10?

Options:

1 17




> 16

13

11

Question Number : 61 Question Id : 54310712232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Examine the following statements:

fArafaf@a FaaT & afdeTor &

1.  All colours are pleasant.

Tl W1 geraet gl

2. Some colours are pleasant.
$T T Feraat gl

3. No colour is pleasant

F1$ o LT Ferae Qg

4. Some colours are not pleasant.
$G T Felael =il ¢l
Given that statement 4 is true, what can be concluded?

I8 AMd gY & U4 Wel & O 71 TpY AT S Fhar & 2

Options:
1 and 2 are true

 1dk2Ed

3 is true

> 3N T

2 is false
5 2797dd ¢

1 is false
o 179167

Question Number : 62 Question Id : 54310712233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



T*2re are some nectar filled flowers on a tree and some bees are hovering on it. If
> bee lands on each flower, one bee will be left out. If two bees land on each
flower, one flower will be left out. The number of flowers and bees respectively are:

UH GET W FO AY ¥ N §U G § IR 30 | o AYAGFEA AT W &l
e TP Tl W TFH AU d5ch ¢ Al U AYFAGH 9§ A §1 g @
AYATENAT TP Tl W dodl g, UH Bl 99 ST gl Goir IR AuATFad
$I TEaT FAU: B-

Options:

2and 4
lzaﬁu
3and 2

, 332

3and4
2 334

4 and 5
4 431T5

Question Number : 63 Question Id : 54310712234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Reena travelled from point A to a distance of 10 feet East at point B. She then
turned right and walked 3 feet. Again, she turned right and walked 14 feet. How
far is she from the starting point A?

¥or o7 g A & 10 e @ # g B &1 amr $1) ag F@f & aifeel 3R 7D
3R 3 e el 91 3 afeelt 3R 14 e el a5 wer fig A & et gx @7

Options:

. 4 feet/fthe

o B feet/Tthe

5 24 feet/fthe

. 25 feet/fthe

Question Number : 64 Question Id : 54310712235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,

three brothers and a mother in the group, who is E's husband?

. safeqa ABCDENRFE | C, F&r 98+ 8| BE & ufd &1 a3 81 D, A &
ar 3R F " arer &1 wHg A & [ar 8, e s § 3R v Aar 81 E & 9fa
FlT 87

Options:

Question Number : 65 Question Id : 54310712236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Direction: In each of the following questions, a series is given, with one term missing.
Choose the correct alternative from the given ones that will complete the series.

frAfaf@d gods s & U swer & T8 B SHA U qEE ofud &« fGu e
fFsrerdt A @ @8 &1 gorg Y aIf s@en i 8 S|
ELFA,GLHA,ILJA, , MLNA

Options:

, OLPA
> ILMA

z. LLMA

, KLLA

Question Number : 66 Question Id : 54310712237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Direction: In each of the following questions, a series is given, with one term missing.
Choose the correct alternative from the given ones that will complete the series.

AT Jad® WA & Uh s@en § TS Bl $HA UF A€ a8l A e g
el A & #@& &1 gerd Y difeh s@on gf g S|
4,18,48, ,180

Options:
1 105

- 80

= 125

4 100

Question Number : 67 Question Id : 54310712238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If ‘P" denotes ‘multiplied by, ‘T" denotes ‘subtracted from, ‘M’ denotes’ ‘added to” and ‘B’
denotes ‘divided by, then what should be the correct response of 12P6M15T16B47

afg P &r 3y aom, T & 3y werd, M & 3 Sirg 3R B &1 31 s g, a9 e
TEr IIX T gram ?

12P6M15T16B47
Options:

. 83

75

Question Number : 68 Question Id : 54310712239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



The question given below has some statements followed by some conclusions.
Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the
given conclusion logically follows the given statements.

ffaf@a oo & $o $99 fGv 71w § qur 38F ac Fo f@swd fRw 1w g
YA B T AI §C JgI § FHAAR W AT a2t § Biest yolia 81 9ad
e, R v st &t eaer qaw 9§ awr a8 ghivaa & &F @ia @ Rwr
frssd fou 1T HoU9 & IgoU Gl B -
Statements/ FYU:
Some boxes are triangles
T T P &
All spheres are triangles
Tafr Mol Feror §
All circles are boxes
All triangles are quadrilaterals
Tt Fraror Tqel B
Conclusions/fay=¥;
i)  Some quadrilaterals are boxes
FO TS HGH ¢
ii) Some quadrilaterals are triangles
FO TGS Fior T
iii) Some triangles are spheres
Fo Feor 7o g
iv)  No circle is quadrilaterals

FI5 &l g IFAA el ¢

Options:
Only i follows

| aeli |8l 8§

Only ii follows

> Fael i el &

Only i, ii and iii follow

5 el |, i 3 il §8r B

Only iii follow
4 el iii WEl B

Question Number : 69 Question Id : 54310712240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

From the given alternative words below, select the word, which cannot be formed
using the letters of the word 'Suspensefulness’.

frfafea wa &, R v [{eew weal @ tar de gq4 S
'Suspensefulness' /e & H&RT FT TAET T el FATIT AT Thdl-

Options:
1 Sense

o Fuels

= Useful

4 Fullness

Question Number : 70 Question Id : 54310712241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What replaces guestion mark (?) in the series given below :
W f¥U Y e # yvHarad g (?) B STE &1 8
88, 64, 24, ?

Options:

, 8

Question Number : 71 Question Id : 54310712242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



The question given below has some statements followed by some conclusions.
Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the
given conclusion logically follows the given statements.

fmfaf@a oo & $o $99 fov v § qur 38F ac Fo faswd fRw 1w g
U FN T A §C JeI T HHAAR R A Feat § et Jefd &1 Fdt
g, for v sl &t eae qaw 9¢ aur 78 gievaa & & &l @ fear o
frssd foU 10 HoUa & IgoU Wl B -

Statements:

faazor:

.  Some pens are pencils
Fo U 9w §

ll.  All pencils are erasers
T 9ffer @ §

Conclusions:

.  Some pens are erasers
FC U W 8
lI.  No pens are erasers |

FIE 9T WY AT &

lll. Some erasers are pencils

$C W 9 §

Options:
Only conclusion (ll) is correct

, Faa fessy (1) 9E &

Only conclusions (l) and (ll) are correct

> Faer =sey (1) 3T (1) 981 8

Only conclusions (l) and (lll) are correct

5 Faer sy (1) 3R (1) ¥ &

No conclusion is correct

4 IS ey 9E A ®

Question Number : 72 Question Id : 54310712243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In the given figure, select the number which can be placed at the sign of question
mark (?) from the given alternatives.

fArAfaf@d g & fqu arv [wedt & @ 0l dewr g St wA fAg (7) &
VAT W G ST Th?

3 4 2
2|31 2 |145| 6 117217
5 3 5
Options:
1. 43
- 49
5 99
4 71

Question Number : 73 Question Id : 54310712244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

How many triangles are there in the given figure?

& a1 3mhfa & fhder Frager €7

Options:

20
1.

22
2.

28
3.

32
4,



Question Number : 74 Question Id : 54310712245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Three positions of a cube are shown below. What will come opposite to the face
containing ‘I'?

Ard ger 1 die Rufaar & a2 &1 1 & fTula e & = 3muen ?

1] 1l v

M Vi

Options:

. VI

Question Number : 75 Question Id : 54310712246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In the given figure, how many pens are blue?

& a8 It . Reaer Ay U9 ¥

Black
Il
13
o % Pen
G .t T |
11 19 12
[ 16\
: i
Blue ahftear
Options:
1 23
- 19

5 12



4. 15

Question Number : 76 Question Id : 54310712247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If a mirror is placed on the line AB, then which of the answer figures is the right
image of the given figure?

Ife T SUUT AB Y@ 9 @I ST § A9 Hied @ Scok HTpled &F a8 3ehfea
&I el ©ig gref?

Question figure: - FeT3MHica

|

Options:

B B 9 [

Question Number : 77 Question Id : 54310712248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

|dentify the odd one
SAH d a8 e I Tie-

Options:



, ZAYB

, TSGH

z. A\CWD

, VEUF

Question Number : 78 Question Id : 54310712249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The two hands of clock will make nearly what angle at 6.20 a.m.?

Ush 31 & & Fic Heag 6.20 a5 R 0T & Flg -

Options:

1_?5

o 70

- 60

4 45

Question Number : 79 Question Id : 54310712250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

An integer with positive sign (+) is always greater than

UoATcH® o8 (+) & AU U quifs gAM qT 38T 87

Options:
1.0

2 1
3 2

43

Caantitative Aptitude
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 25

Number of Questionsto be attempted: 25

Section Marks: 78

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107235
Question Shuffling Allowed : Yes

Question Id : 54310712251 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (80to 81)
Juestion Label - Comprehension

Directions: Study the given information carefully and answer the
question which are based on it.

fader: & 1% gaar &t eaegde 9¢ AR 5H 9v wuRd 99 & Iee’ &

The rainfall (in mm) in a city on 7 days of a certain week was recorded as follows:

UF Y A fAgd avae 7 @a fr adt (A A) Ffof@a oo f %

Day/ Mon/ Tue/ Wed/ Thu/ Fri/ Sat/ Sun/
feor . HaTel. Y. Ie. . orfey ifa.
Bl B 12.2 2.1 0.0 20.5 5.5 1.0
et
Sub questions

Question Number : 80 Question Id : 54310712252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Find the range of the rainfall in the data.

areT & aur 1 @A (range) SATT
Options:

L 10.5

- 12.5

20.5



13.5

Question Number : 81 Question Id : 54310712253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Find the mean rainfall for the week

HTATg & gu1 & AT (mean) 410
Options:
. 5.9
5 5.0
3. 9.5

4 4.5

Sub-Section Number: 2
Sub-Section Id: 543107236
Question Shuffling Allowed : Yes

Question Number : 82 Question Id : 54310712254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If least common multiple of two numbers is 225 and the highest common factor is
5 then find the numbers when one of numbers is 257

i a7 HEAB & FPAdH AT 0TS 225 AR ITadHA AT FRE 5 g
Ife Th FEAr 258 dr qEil §EAT F gar 17

Options:
1 75

> 65
z 15

45
4,

Question Number : 83 Question Id : 54310712255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

A man goes to Mumbai from Pune at a speed of 4 km/hr and returns to Pune at
speed of 6 km/hr. What is his average speed of the entire journey?

TS e 9T § FEas 4 el 9fq wer $r a1fT & Sner § AR araw qor 6 R
wfe et & aifd & e &1 3adhr g I $r staa afa Far g2

Options:

;4.8 km/hr fraufager
- 5 km/hr fFegfaeer
5 4.2 km/hr ferAwTaEer

4 5.6 km/hr frsfufader

Question Number : 84 Question Id : 54310712256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Ramesh'’s salary was reduced by 10% and then the reduced salary was increased
by 10%. What was his ultimate loss?

mrmaﬁﬁm%ammm?amaamg@éaﬁaﬁm%aaﬁmsn?lT
g ol 99 gg Jhar feaq uferera s m ?

Options:
i 0%

, 10%
3 1%

4. %

Question Number : 85 Question Id : 54310712257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Two numbers are less than a third number by 30% and 37%, respectively. By how
much percent is the second number less than the first?

ar TEA drall §EAT § FHAEA: 30% I 37% HA §| THA WAL, Tgell H ol
# faq ufaea s9 82

Options:



L 7%
, 10%
5 4%

4 3%

Question Number : 86 Question Id : 54310712258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

An agricultural field is in the form of rectangle having length X1 meters and
breadth X2 meters. (X1 and X2 are variables). If X1+X2=40 meters, then the area
of the agricultural field will not exceed which one of the following values?

TF T ITAHR & 3T adFars X1 #Aey 3R gizg X2 #Aex & (3 X1 3k X2
gRadereirer §) Ifg X1 + X2 = 40 Ay § O @9 &1 &9%a Frfafad 5§ 9
f&a der § 39+ 787 & gar?

Options:

, 400 sqm gAY

- 300 sqm FIHART
5 200 sqm g

4, 80sq m adHIeY

Question Number : 87 Question Id : 54310712259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A jar contains a mixture of 2 liquids P and Q in the ratio 4:1. When 10 litres of the
mixture is taken out and 10 litres of the liquid Q is poured into the jar, the ratio
becomes 2:3. How many litres of the liquid P was contained in the Jar?

T SR & 2 el 9erdf P 3R Q & 411 &F qard # Fa0r g1 5@ 10 #fex
0T I & Serer smar & 3R Q &7 10 diet X B oK # Frerar aar g
ar 3e[9Td 2:3 81 STar g1 SR P &7 fhdatr ofiey avel gere ar?

Options:

17 litres &TeY




5 16 litres &eT
- 14 litres #lieY

) 15 litres olie¥

Question Number : 88 Question Id : 54310712260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

P works thrice as fast as Q, whereas P and Q together can work four times as fast
as R. If P&Q and R together work on a job, in what ratio should they share the
earnings?
P, Q@ el oM dst &4 &Xar § 5@ 1 P 3R Q gr et R @ IR 7om
a5 #E # H@Hhd ol G P, Q 3R R ¥y et &9 &t € df 3= aiaf@s
g ua & Heram?
Options:

o G B

1.

Question Number : 89 Question Id : 54310712261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If1.123 x 3.211 = 3.122 + , then the number in blank space is
e TAZII S =T 122 4ccvivininsd @relt T & o9 d1 FEar 3meet)
Options:

0.483
1.

0.0483
2.

4.083
>,



4 4.0083

Question Number : 90 Question Id : 54310712262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Ifi of A=75%0of B=060fC,thenA:B:Cis

gfg 1/30f A=75%0f B=060f C,dd A:B:C&Hl HA &
Options:
; 4:56:9

2_5:9:4

9:5:4

Question Number : 91 Question Id : 54310712263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A train crosses a platform 100 m long in 60 s at a speed of 45 km/h. The time
taken by the train to cross an electric pole is

T YT9mar 100 HeT aFa colewa &t 45 fhar ufey ger & aify 60 9. & ax
FAT £l T foorell & @5 &F 9N i & fhdan a&7g «@en?

Options:

. 8 s/&s
, 52 s/q&s
5 1 min/ @ee

4 40 s/q&He

Question Number : 92 Question Id : 54310712264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



If the price of the cooking gas is increased by 15 %, by how many percent should
a family reduce its consumption so as not to exceed its budget on cooking gas?

gfe @A g Fr g 7 Frag 15% g T & ar v afla 39 e §91
#r g A @ug Fr Faar vfawad F7 F OfF 3HE @ 9EmE H T &
gaic gl §¢7

Options:

, 14%

13 %
z.

17 %
>,

jaleg
4 =~

Question Number : 93 Question Id : 54310712265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The difference between the smallest and the largest fraction among is

B | W
£ | tn

| =

1

4

151

3/2, 1/5, 4/3, 5/4 & ¥ a8 oY 3T gaq a2 et & g 3rav a7 g2
Options:
, 12/8

, 13/8

, 1310

4_15;’11'3

Question Number : 94 Question Id : 54310712266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If the cost price of 9 pens is equal to the selling price of 11 pens, then what is gain
or loss percentage?

Il 9 9T & 9T H{ed 11 U & 96T Hed & AW & af fohaa gfaerd amer
3rqar gifsy gren?

Options:



| 22%

5 25%

5 18.2%

, 16%

Question Number : 95 Question Id : 54310712267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The average weight of 8 persons increased by 1.5 kg when a person weighing 65
kg is replaced by a new person. What could be the weight of a new person?

A9 U 65 fFhalanyg g3ad & <ufdg & 918 U a7 cafdag H1ar ¢ or 8
cafaaal &1 3itaa g 1.5 .. gearare| v safda &1 gt Far 87

Options:

, 75 kg/fR.am.

, 82 kg/Teh am.

5 77 kg/f.am.

4 70 kg/fes.am.

Question Number : 96 Question Id : 54310712268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Two taps A and B can fill a cistern in 12 min and 16 min respectively. |If both taps
are opened together and at the end of 4 min, B tap is turned off, then how much
time will it take to fill the cistern ?

ar 7 T 3T & s &1 A1 HaEm 12 FAae 3t 16 e & 9 g&ad & o=
A U Y @l Id £ adl 4 Aee a1 dc ff & d¢ F &ar Jar g1 39
3R frasr g # & g s

Options:

; 8 minffA=T

> 10 min/fA=1e



2 5 min/fA=¢

4 11 min/f&=¢

Question Number : 97 Question Id : 54310712269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A sum doubles in 20 years at simple interest. What is the rate of interest?

HYUROT ST &X O T AR 20 ¥ & I 81 ATl §| Saraf ax 41 § 2

Options:

, 5% per annum/gfdad

> 8 % per annum/gfaas

3 5.5% per annum/gfaay

4 8.5 % per annum/gfaay

Question Number : 98 Question Id : 54310712270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The average of 11 observations is 60. If the average of first five observations is 58
and that of last five is 56,the sixth observation is

11 3eoraes &1 3itaa 60 &1 afe vuw gig esgys & 3tea 58 § 3k
H¥ia® ot F1 HET 56 & O ©or MTeala g-

Options:

. 90

110

85

100

Question Number : 99 Question Id : 54310712271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

Each member of a picnic party contributed twice to their serial number. The total
collection was Rs 3042. The number of members present in the party was

T Wedfeiss 9idl & Ucds HGET of 39 HH HEAT 1 g AU g e
SEA Fel TIE 3042 F. UT| Ul A fRcer orer 3ufPua 47

Options:
1. 2

> 32

5 42

4. 39

Question Number : 100 Question Id : 54310712272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Two men start together to walk a certain distance, one at 4 km/h and another at 3
km/h. The former arrives half an hour before the latter. Find the distance.

& safFd U Wy U fAfREd gt i amn o #wa € v 4 A gfa guer &
T | gawr 3 fh.AL 9fd guer & a1fd || Jgen safFd gEl d IMYT gUT Uge
TETAT § A gl Sar-

Options:

. 6 km/fE AT

» 9 km/f .
- 8 km/fR. 2.
. 7 km/fr.a

Question Number : 101 Question Id : 54310712273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

On selling an article for Rs 264 a man loses 4%. In order to gain 12%, find the
selling price of the article.

U cafFd 1 UF aF] 264 & A I 9 4% H @il gt &1 12% ey ured
el & forw a&g &1 fohr Hor aare-



Options:

. Rs/®. 300

Rs/®. 310
z.

2 Rs/®. 295

A Rs/%. 308

Question Number : 102 Question 1d : 54310712274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Lakel Multiple Zhoice Guestion

out of /4, /2,53, */5 which number is the biggest?
34, |2, 83, 45 g A i O FEIT FEW g1 7
Options:

1 24

o 4_'1:5

3. 2

Question Number : 103 Question Id : 54310712275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A cube of 25 cm side is divided into 125 smaller cubes of equal volume. Find the
side of smaller cubes :

25 JHW YOIl 9Tl U ©F S GHE A= & 125 8IS uAl F fqwiford faam wran
21 BIC °41 B ol 811 -
Options:

, 2 cm/IHT

ESGmW'ﬂTﬁ

] 5 cm/SHT



) 6 cm/THT

Question Number : 104 Question Id : 54310712276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Rs. 5625 is divided among A, B and C so that A receives one half as
much as B and C together receive and B receives one-fourth of what A
and C together receive. The share of A is more than that of B by:

5625 90 FTABIRC & dig 29 v [Fonioad frar srar g R AT B 3R C
(TR ATY) ST Jolell H HTUT WISd BT & 3R B &F A 3R C (T @1y) i Jofer 7
T A ured gar £ 1 AT REarB ¥ fhaer 30 B

Options:
Rs. 750

, 750 T9

Rs. 775
5> 775%9Y

Rs. 1500
- 1500 92

Rs. 160
4 160 9

Question Number : 105 Question Id : 54310712277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If A mean +, B means ', C means 'x', then find the value of following equation :
gfg A &1 Addd <, B T Addd ', C &1 Addd X' g, o fFr=fafaa aiieor &1
A ST BN

46A2B3C4="7

Options:
34
1.



23

z.
5 17
11
4,
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Question Number : 106 Question Id : 54310712278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Documents, Movies, Images and Photographs etc. are stored at a:

eraras, s, g ik et anfe e w ek g §:
Options:
Application Server

1 ool HAT
Web Server
, 99 |

Print Server

5 O R
File Server

o TS HH



Question Number : 107 Question Id : 54310712279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

RAM consists of which of the following?

rRam # fAefaf@a & O w1 anfder g2

Options:

Conductor

| T (ATAD)

Semi Conductor

. 37 FeF (I ATAD)

Vaccum Tubes
3. E - 0

Transistor

, SIfarEe

Question Number : 108 Question Id : 54310712280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What do you press to enter the current date in a cell of an MS Excel sheet?

THUY. UTHd ¥e & 9o & gda- O g & & v 319 Far garg &

Options:
CTRL + ; (semicolon)

, CTRL +; (3reiferma)

CTAL + : (colon)
, CTRL+: EIGGH

. CTRL + F10

. CTRL + F11



Question Number : 109 Question Id : 54310712281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

How many bytes are there in a terabyte?

U 2YTErse A g aise gia 27
Options:

1000
; 1000

1 billion
o 1 faferas

1 trillion

| 1 feforas

3

1 million

4, 1fAfegs

Question Number : 110 Question Id : 54310712282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is an electronic or paper log used to track computer activity?

Fege aifafaft & & wet & foe fArafaf@a 7 @ #le a1 seleci@e ar dug e @2
Options:
Audit trail

| e

Monitor

HAiferet

z.

Trace route

3 SR

Cookies

FHenral

4, e



Question Number : 111 Question Id : 54310712283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Micro Processor speed is measured in—

AR wrEEY &1 afa ad andr e B2

Options:
megabytes

AIMETSEH

1.

gigahertz

IR

2. ks

kilobytes
2. FATSTH

gigabytes
4, Mamarse

Question Number : 112 Question Id : 54310712284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following prints the best quality graphics?
ot & & i @98 3T urEcar arel kT B VUG FT 67

Options:
Plotter

b=l

1

Laser printer

o olatt e

Ink jet printer

S_gaﬁﬁafﬁm



Dot matrix printer

43%3‘-@*-@%

Question Number : 113 Question Id : 54310712285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

What does the acronym PDF stand for?
dferea s 9EvE T QR AW a7 §?

Options:
Portable Documenting Format

1. e guaqh;ﬁ <31 HIHT
Portable Document Format

o GICad GEATd S WY

Portable Documentation Format

5 OIETel oIl 9T&g

Portable Documentation File

, e ST Wi

Question Number : 114 Question Id : 54310712286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A computer virus can not cause—

FTCY AIH & IRUTAETET g1 gl

Options:

Disk Crash
. B &1 $UaH

Mother Board Crash
, FeX IS &7 HA BT



Corruption of program

Slmmﬁr&gamm

Deletion of files

4_!:F|3'a"ra:rfaa“lza’rm

Question Number : 115 Question Id : 54310712287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Which generation computers are built with microprocessors?

HIZH! WA o X 69 N & dedrd &2

Options:

third generation

|t iy

fourth generation

, el O &

first generation

o el diér &

second generation

) gadt didr &

Question Number : 116 Question Id : 54310712288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

How to specify cell range from A10 to A 25 in MS Excel?
THUYH. Taid # A10 ¥ A25 d& dd I &8 [Afgse &

Options:

, (A10. A25)

, (A10-A25)



- (A10 to A25)

, (A10: A25)

Question Number : 117 Question 1d : 54310712289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The ALU and Control unit, are jointly known as—

ALU 3R foigaoT S &l H§gFd §9 & ST STl 8-
Options:

RAM

Question Number : 118 Question Id : 54310712290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

119. Which of the following is not a function of the control unit?

fArafafaa § @ #ia Raavr s #1 a9 F81 82
Options:
Reading instructions

i fo¥ger ga-n

Executing instructions

, fgelt & e T



Direct operations

3 UCHET HaTeld

Interpret instructions

, TR r carear Y

Question Number : 119 Question Id : 54310712291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

What is the storage area for email messages called?

SHo ge ol & forv S/ 87 F97 ST &7

Options:
folder

| et

directory

hard disk
, &S BER

Question Number : 120 Question Id : 54310712292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Programs such as Mozilla Firefox that serve as navigation windows into web are
called—

ATl FEMEE AT W& &t a9 & Afaes &9 & &9 & 7183 9 & 3o
FET ST §-

Options:
Internet

. FETT



URL

THNTel
A

Web browser

5 9 SIS

Networks

ek



